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3|81 BEB| hARE [/NUEKR 3 |[2000| 47.06 | 50 50 x| 50 60 63 65 x |50 2 63 2 113 2
2 |3 1B B Z|HHR/IEBBXKERESKR 2 |[2000| 45.90 | 40 43 45 50 53 55 |45 3 55 3 100 3
5 3 Kgfk
=] 5 _ o
No. K& #EZ FRE FE|EE| KRE T > 3 T > 3 o7 TEel 1ces -7 Tiam N—=4)1 | NiEiz
6 || L HEE [FIEERER 2 |2000| 48.82 | 61 64 66 78 81 84 |66 2 84 1 150 1
4 (lLO F=2 TINE ([AEE SR 3 [1999| 52.66 | 60 63 66 80 x| 80 83 x |66 1 80 2 146 2
7 |1LEF BB HR)E|BXEBERER 2 |2001| 50.98 | 43 45 47 55 58 60 x |47 3 58 4 105 3
8 [t E& BERE (AT FEiR 1 |2001| 52.22 | 40 44 47 x| 55 58 61 |44 4 61 3 105 4
5 |Fi% XA BEE [BERER 3 [2000| F4> 0 0 0
5 8 Kg#k
8 3 _ o
No. K& #IEZ FR% FE|EFE| KE T > 3 T > 3 R R N—2)1 |IEfE
14(5% O B | BERE |FiEERER 3 |1999| 57.06 | 60 60 x| 60 68 71 73 x |60 1 71 1 131 1
134 BB B x| RER#H [REFXEER 1 |2001| 55.60 53 56 58 62 65 x| 66 58 2 66 4 124 2
9 A& BA 4 FR| TERB |HIGEEKR 2 |2000| 56.84 | 48 52 54 x| 60 62 68 52 3 68 2 120 3
10[/\B £ M &E[HR)BEHE_EK 2 |2001| 55.92 | 48 51 x| 51 62 64 66 x |51 4 64 5 115 4
11(00 ™ F K| FREP |REFEER 1 |2001| 56.80 | 46 48 x| 48 62 65 67 |48 6 67 3 115 5
121 H# £ & TER |[MFPEEER 2 |2001| 57.16 | 48 52 x| 52 x| 55 58 x| 58 x |48 5 55 6 103 6
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= 5 IARENIEEEFER £ 2HhBEE PT1U—| f&H X2 |cLou-| Jtie BE=
H & ¥EmM294F 68 10H (1) RINEEERE Ta)—| st B [sLov-| SR —B
TRk B PT1l— T1)-| =f |3 |sLov-| =R BEBRTF
AT 158 209~ 168 104 NHERE Toh--| kF T |MM-c-| MR 4E
C&“v-h : 16BF 159~ 178 109 Tb-5-| BREF RRAKT |anena| SR RKE
6 3 Kgihk N:BA IN:$1ZF7 H:8& C: A2 / R:§RiE S:o9ER
=] 75 — 7
No. K% #E FRE FE|EFE| KRE T > 3 T > 3 o7 Tl e i liEm N=5)L | I
19(1lL 1R x| AR /MNUEER 1 [2001| 61.56 | 65 69 72 x| 75 78 82 |69 1 82 1 151 1
17 (B B == #2| IWEE [BIIEKR 2 |2000| 62.34 | 63 66 x| 66 75 78 x| 79 |66 2 79 2 145 2
18| K & E| AR [/MNUBER 3 |1999| 61.60 | 57 60 x| 60 75 79 x| 79 |60 3 79 3 139 3
16(/ ZB £ =| HBER |FIEEEXSESKR 2 |2000| 62.36 | 60 x| 60 x| 60 78 x| 78 80 x |60 4 78 4 138 4
158 B = P TER [FEEEKR 3 |1999| 62.08 | 52 55 x| 55 62 x| 62 65 |55 5 65 5 120 5
6 9 Kgik
s e AFvF C&>v—7/ ARA N
=] %5 _ o
No. K& #HEZ FRRE FE|EE| KRE T > 3 T 5 3 97 TRal e v liem N—=%)L |IEfz
21142 NIl B | ZIRE [ KFBERER 3 |1999| 67.44 | 64 68 71 x| 84 88 x| 88 x |68 1 84 1 152 1
208 E B3| ZWE [SHEINER 2 |2000| 63.08 | 54 57 61 x| 68 71 74 |57 2 74 2 131 2
7 5 Kgil
=] > _ v
No. K #PE & FRE FE|\EFE| KRE 1 > 3 1 > 3 97 Tael (e o iAe =5 |IEf
227 BB B | BFEE [BHERER 2 |2001| 72.52 | 70 x| 70 72 85 89 92 |72 1 92 1 164 1
23|40 & U £ 0| ILBIE (EPEBEELE SR 2 |2000| 72.74 | 65 69 x| 71 x| 80 85 90 x |65 2 85 2 150 2
+ 7 5 Kgik
8 3 _ o
No. K& #HEZ FRE FE|EE| KRE T > 3 T 3 97 TRal 1ca v iam N—=%)L |IEfz
24|18 B F 1| ILEIE (EPEBEELESR 3 1999 91.84 | 55 58 x| 58 75 |¥v> |¥> |58 1 75 1 133 1




